Trigonometry — Joysheet 2

Name: S‘Mj Ocuz""‘
MAT 145, Spring 2017 — D. Ivansic Covers: 6.8, 6.4

Show all your work!
1. (9pts) If cost = —% and # is in the third quadrant, find the exact values of all the
trigonometric functions of #. Draw a picture 7 J—- Eie g 2 7 Hrl_.d
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The ternun&ul side of angle # 15 in the fourth quadrant and lies on the line
2z + 3y = 0. Find the exact values of sin# and cot #. Draw a picture.
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4. (8pts) Indicate both the radian and degree measure under the following angles. (Use
equally-spaced lines to help you determine what the angles are.)




5. (8pts) Chicago, IL, is directly north of Mobile, AL and their latitudes are 41°50'13"N
and 30°41°40"N. respectively. What is the distance along the Earth’s surface between the
cities, if the radius of Earth is 3960 miles?
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6. (8pts) The tip of the second-hand on a clock is 5 centimeters away from the center. As
the second-hand rotates, what is its linear speed in centimers per second?
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0.523595 cu/sec

7. (12pts) A truck whose tires have outside diameter 50in is traveling at 453mph.
a) What is the angular speed of the tires?
b) How many revolutions per minute do the tires make?
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